GRE Algebra Practice Paper 2

Question 1
Sobve for =
%1 = 256
Possible Answers:

—4

256

| =

Question 2

Solve for x.
1

3T = —
9

Possible Answers:

[



Question 3

Solve for x.
oF — 32

Possible Answers:

Question 4

Compare 3° and 277,
Possible Answers:

The relationship cannot be determined from the information given.
3% < 927°
35 —27%

2% - 972

Question 5



find x

P e ]
Passible Answers:

2or-1

Question 6

m
If m and n are both rational numbers and 4™ = 8", what is —?
n

Poszible Answers:

3
2

=]

o] en

2
1

Question 7



Quantity A: 4 473

]

Quantity B: 4—3

Poszible Answers:

The twao quantities are equal.
The relationship cannot be determined from the information given.
Quantity B is greater.

Quantity A is greater.

Question 8
Simplify the following:

25M — 5%

12

Poszible Answers:

12 + 5°

Question 9



Simplify the following:

48" + 0™
420

Poszible Answers:
4]13 * 325 I - L 515

1230 4 510

Question 10

If one mile is equal to 3,280 feet, how many feet are 100 miles equal to in scientific notation?

Possible Answers:

528 x 10°
5280 x 10?
528, 000
528 x 10°

5.28 x 10°

Question 11



Solve the following expression, [z — 2}2 .
Paszible Answers:

zg+4z+4

r? —dr—4

2 _ 4z + 4
Question 12

r? 4+ h5r—14

Quantity A:
r—2

QuantityB: =+ 7

Paossible Answers:

Quantity Ais greater.
The relationship cannot be determined.
Cuantity B is greater.

The two guantities are equal.

Question 13



z =10

¥y |z

Quantity A: (z + y)®
Quantity B: z? + ys
Possible Answers:

Quantity A is greater.
The relationship cannot be determined.
The twao quantities are equal.

Quantity B is greater.

Question 14
r <0

y=0

Quantity A: (z + y)°

Quantity B: z* + y3

Paossible Answers:

The twa quantities are equal.
Cuantity A is greater.
The relationship cannot be determined.

Quantity B is greater.

Question 15



Expand the function:
3 2 1 2
(zy” + = y)(zy —T7y")

Possible Answers:

23 — 2%y + 2% + o2y

LN N S g

15y3+ﬂ:dy’5 + 33y2+152yd

P e R

—2%9% — 248 + 2y 4 2yl
Question 16

=0

y< 0

Quantity A: (z + y)°

Ouantity B: z? + dzy + 'gg

Possible Answers:

Quantity A is greater.
The twao quantities are equal.
Cuantity B is greater.

The relationship cannot be determined.

Question 17



(z+3ylz —3y) =8

Quantity A: z° — ng

CQuantity B: 16

Poszible Answers:

Quantity B is greater.
The two quantities are equal.
Quantity A is greater.

The relationship cannot be determined from the information given.
Question 18

Quantity A: 2 - 3

Quantity B: (2 + 3)°

Passible Answers:

Quantity B is greater.
The twa quantities are equal.
Quantity Ais greater.

The relationship cannot be determined from the information grven.

Question 19



Expand the following equation:

(* —3)(z+7)
Possible Answers:
47— 32— 21
PR ) |
? + 14z — 21
2 +4z +21
2 -2

Question 20

What is the value of tif: 3x2+tx-21= (3m-3)x+7)7

Passible Answers:

18
24
21
-3
15



